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QUESTION 1

Refer to the exhibit. 

A vSAN Cluster stretched across Data Site 1 and Data Site 2 has a vSAN data network configured with an MTU of
9000. The witness node has been placed in a remote site across a WAN with an MTU of 1500. The vSAN health check,
\\'vSAN: MTU check (ping with large packet size)\\', reports a failed ping. 

What two actions could resolve the issue? (Choose two.) 

A. Reduce the MTU from 9000 to 1500 on all vSAN VMkernel interfaces. 

B. Reconfigure the VLAN of the witness traffic to be identical to data nodes. 

C. Configure proper routing from data sites to the witness across the WAN. 

D. Reconfigure WAN link to support an MTU of 9000. 

E. Stretch L2 traffic from WAN to both data sites. 

Correct Answer: AD 

Reference: https://kb.vmware.com/s/article/2141733 

 

QUESTION 2

Which two storage policy changes require a full rebuild of all components for an object? (Choose two.) 
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A. Increase the number of disk stripes for an object from 2 to 3. 

B. Increase the IOPS limit for an object. 

C. Reduce the Primary Failures to Tolerate from 2 to 1 for an object using a failure tolerance method of RAID-1
(Mirroring.) 

D. Disable object checksum on an object. 

E. Change the failure tolerance method of an object from RAID-1 (Mirroring) to RAID-5 (Erasure Coding). 

Correct Answer: CE 

Reference: https://cormachogan.com/2018/02/21/policy-changes-can-trigger-rebuild-vsan/ 

 

QUESTION 3

Which Kubernetes information is exposed in the vSphere Client to help a vSAN administrator filter Container Volumes
based on their usage? 

A. Pod name 

B. StatefulSet 

C. Labels 

D. StorageClass 

Correct Answer: D 

 

QUESTION 4

A customer environment includes: 

4-node vSAN cluster 

5 SQL servers with an OS virtual disk and database virtual disk 

Current policy uses the vSAN Default Storage policy 

A vSAN administrator has created a new policy with fault tolerance method of Erasure Coding with Failures to tolerate
equal to 1. The administrator will apply this new policy to the OS disk only. 

Considering this scenario, which two statements are true? (Choose two.) 

A. The policy can\\'t be applied as there are not enough nodes to comply with the policy. 

B. The object tree will have to be rebuilt when the policy is applied. 

C. vSAN policies can only be applied to entire VMs. 

D. This policy will require additional transitional space, until all objects are recreated. 
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E. The policy will result in size reduction and only will require 1.5x space instead of 2x. 

Correct Answer: BD 

 

 

QUESTION 5

An infrastructure architect is designing a vSAN Cluster that must satisfy these requirements: 

support storage policies with 2 failures ?RAID-1 (Mirroring) 

support storage policies with 2 failures ?RAID-6 (Erasure Coding) 

virtual machines must maintain compliance with the storage policy rules above when one host is in maintenance mode
with full data migration 

What is the minimum number of hosts needed to achieve these design requirements? 

A. 6 

B. 8 

C. 5 

D. 7 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-data-
center-vms.doc/GUID-EDBB551B-51B0-421B-9C44-6ECB66ED660B.html 
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